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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1

Ans

A ABC & AB = 8 TlieX 3 £A & FHESWF Heditsh ¥ ¥ BC W D
T faerar & 3k BD = 6 @éuier @ it DC = 75 Edefer & & CA &
AT T BEm?

In A ABC, AB = 8 cm. £A is bisected internally to intersect BC at D. BD = 6 cm and DC
= 7.5 cm. What is the length of CA?

x 1 12 T
12 cm

x , 125 TEAT

12.5 cm

v 10 F&AET
10 cm

x ;. 10.5 TE

10.5 cm

Question ID : 9864492775
Status : Not Answered
Chosen Option : --

Q.2

Ans

Rrarma R e R kP d S ma s m F v = d
FIT ;N FuA =T 2l

o= & IA1Ee T T w27

FIT:
1. IS F T EEAR F T &l
2. IABE T TT TGS AHDI |

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What is the colour of the granite in the kitchen?

Statements:
1. The colour of the granite is the colour of the wall.
2. The colour of the granite is very bright.

F !
&3 91T goT FT 3caT & F v 1 3k 2 = 9T &

Both 1 and 2 are sufficient to answer the given question.

<2
fedr aTe e 1 3eR & F T wFem 2 wAreg ¥ AfFE wHen 1 gueg A
gl

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

< 3.

Question ID : 9864494078
Status : Answered
Chosen Option : 4
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2l

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

o 4
YT T ST 3l e & DT F ar 1 3t 7 & 2 wIeT &

Neither 1 nor 2 is sufficient to answer the given question.

Q.3

faw =1v fawredl # @ @i o=l & Refofa cgewn & 2 & sfawrfe
R FRT s A Rr w am s aa F § S ww 7 ¥ aewwr F
eas & &7

MABELA, MABLE, MABUSE, MABEPEARL, ?
MABELA, MABLE, MABUSE, MABEPEARL, ?

If the above given words are arranged in the dictionary then the last word is:

Question ID : 9864494122
Status : Answered
Chosen Option : 3

Ans - X 1. MABEPEARL
v 2 MABUSE
# 3 MABELA
# 4« MABLE

Q4

AT e & ERIT FHEIETE A1=eE, 3c0ed T &
Ammonium nitrate, on thermal decomposition, produces:

N;0 3T H,0
N,0and H,0
2 NH, 3T NO,
NH; and NO,
. NH; 3TNO
NH; and NO
N 3T H,0
N, and H,0

x

Question ID : 9864493170
Status : Answered
Chosen Option : 2

Q.5

BaCl, & 2.08 A 3 faf@a ag 1,50, % e e & AT &= =
AT 2=y e BaS0,, #r AT ety i

(STATY] STT: Ba = 137, C1 = 35.5, § =32, 0 = 16)

The amount of BaS0, formed on mixing an aqueous solution of 2.08 gm of BaC1, and

excess of dilute H,50, is .
(atomic weights: Ba= 137, C1 =35.5,$=32,0=16)

23.39mMH

1.
X33 g

2.0349MH

2.
= 208 g

1.04 <TH

3.
X2 oa g

2.339mMH

4,
Vi3 g

Question ID : 9864493107
Status : Not Answered
Chosen Option : --

Q.6

Question ID : 9864494365
Status : Answered
Chosen Option :2
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Problem Figure

%

Answer Figures

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

*

Answer Figures

Q.7 s iy FOEh TuEATET & g & F e gn-riE To g Sl aEd

& 21?.’333% 2 B 7 o & S Question ID : 9864492398

) . - . . N Status : Answered
The Indian and Japanese Prime Ministers have recently signed a high-speed rail project

deal that will connect Mumbai with which major city? Chosen Option : 2

Ans x1. %a_\rm

Hyderabad
et

| Bangalore
FHeHcTdlg

" Ahmedabad

X4 7% feeei

New Delhi

K2

W 3

Q.8 FE=RRAT 3 T
@ T 9 T R B TE A ;A @) T E Question ID : 9864494269

Status : Answered
ST U fieiEt 7 3 Chosen Option : 3

aF 1: eSOt i #
aF 2: grEgea A fRufy &

Read the given question and decide which of the following argument(s) is/are correct.
Hydrogen is in a cylinder.

Argument 1: Hydrogen is in a liquid state.
Argument 2: Hydrogen is in a gaseous state.

ns x1_aa—=|?»raﬁ:11q€r%|

Only argument 1 is correct.

x2_13ﬂ¢2a#‘rﬂ€rﬂ‘€f%|

Neither argument 1 nor 2 is correct.



3‘aa—c|?~ra==‘52:H€r%|

Only argument 2 is correct.

4‘ma’r1m2v€r%|

Either argument 1 or 2 is correct.

x

v
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Q9 arget #r gEASE H YFA GIUT i AT T 87
Name the type of mirror used in the headlight of vehicles:
v &) AT G
Concave mirror
X2 HHETT EU0T
Plane mirror
X 3. 3ol gy
Convex mirror
x ,, TS gquT

Plano-convex mirror

Ans

Question ID : 9864493184
Status : Answered
Chosen Option : 3

Q.10 X 3r9er = & f¥ER # AN Hg w0 e &, 38 G # 100 freteet
T T & &E 9@ A¢ Fr § 3 e 100 et M Tonar ¥ g
T FF A #3HT 50 Freieer Teer &1 3 e g & wmier X e
fe=m & T @ 87

X leaves his house facing west, drives 100 km, then turns right and drives 100 km. He
then turns left and drives 50 km. In which direction is X facing in relation to his starting
point?

Ans - e g
South west
X2 EA q‘a
North east
afémor g
South east
o 4 ST UiEH
North west

X3

Question ID : 9864493769
Status : Not Answered
Chosen Option : --

O e AT H Pt Tohaet fhaiteeT g &7

How many kilometres are there in one metre?
Ans X 1.0.1
V' 2.0.001
X 3.0.01
# 4.0.0001

Question ID : 9864492601
Status : Answered
Chosen Option : 2

Q.12 =f WASP STINGS HARD # @%Z ¥ 7 &, HARD TO DEAL = 265 ¥
w7 # 3t HEAL LONG TIME = 896 & &7 & =g f&ar =rar & ar HARD
T FHIT FT gEI?

If WASP STINGS HARD is coded as @%Z, HARD TO DEAL is coded as Z65 and
HEAL LONG TIME is coded as 896, what is the code for HARD?

Ans X1g
X25

Question ID : 9864494364
Status : Not Answered
Chosen Option : --
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Xe@

Q.13 Kabaddi
Question ID : 9864494035
’ ¢ i Status : Answered
LT Chosen Option : 3
Football W

Cricket

Football -FeaieiKabaddi -&egElCricket  -fahane

T 71T 37 I F HER, 37 O H o FET g = e Al
Teater gt Tt § A Hagdr 7@ de §

Kabaddi

P a R

s T u

Football | ¥

Cricket

As per the given Venn diagram, the total number of students who play cricket as well as
football but not Kabaddi is .

Ans X1R
X2T
Vv
X 4P

Q.14 forfafEe § e ot ol & Fosi, et wag, ava FeusHt AT AR e Hr o 1D - 98644
i S T A Y e T Ee 3 o PrarE . Question ID : 9864493377

‘Which of the following can inhabit the most inhabitable habitats like hot springs, deep sea,
thermal vents and ice in Antarctica?

Status : Answered
Chosen Option : 4

Ans GﬁEnUT
v &) 2

Bacteria

qaelrAT
X2 ©

Euglena

5 3 3

Viruses
AT
Amoeba

X4

Q.15 frare g $r 77 Fr £ F SFelle 9T 7 Fe7 g1 o= #
m & % e * & e = Question ID : 9864494341

fageT & oy 1@ar 87 Status | A P
atus : Answere
Ryaan is Vehaan’s mother’s sister’s father’s only son’s son. How is Ryaan related to

Vehaan? Chosen Option : 2

Ans



www.govtjobsalert.in

x4a1mmmﬂq§tﬁrfﬁmm

Uncle

Q.16 7 FEar x4441,11 @ Faafad & st § aF x &1 A fhdar &7

If the number x4441 is divisible by 11, what is the face value of x?
Ans x 1.5
X2 4
X2
V3

Question ID : 9864492985
Status : Answered
Chosen Option :2

Q17 T wHeoT & 7% HT G = wewEt & S wEE 9§ @ 99 T
aAforeier REat #1 39gF Thie I 1% $HH T 19T = g ST A

5035=20

Select the appropriate combination of mathematical operators to be sequentially placed
between the numbers given on the left of the following equation so that LHS = RHS.

5035=20
Ans “1_ -+ ®

K2+ % -
K3+ - x
Koax + -

Question ID : 9864493996
Status : Not Answered
Chosen Option : --

Q18 Tmfaf@a gaiar Avlr &1 9gel RUNcAS U AT HifeiT]

129, 120, 111,102, ...
Find the first negative term of the below A P.

129,120, 111,102, ...

v 16 ¥ gz
16® term
137

X2 e

13" term

15 ¥ ug

15® term

14 7

Xa

14% term

Ans

K3

Question ID : 9864492615
Status : Answered
Chosen Option :1

Q19 iR & & et & e =ov o e 2Py gfra e 3 ¥
‘Which of the following gases turns lime water milky?
Ans COs
el
Oz
. o,
Oz
. 05
co
Co

Question ID : 9864493569
Status : Answered
Chosen Option :1




Q.20 7 1,560 Fresw o= i A, B3R C %mﬁmﬂwﬂggﬁlﬂg

ST B 37 W gleT STer ST 37 50% Y 38T B = 9Tea 2197 e 61197 ¢ 3 9ie 2iey aTer
ST T 20% 27| B T gt [ier grea grefre

A total amount of ¥ 1560 is to be divided among A, B and C such that A gets 50% of what
B gets and B gets 20% of what C gets. How much will B get?

Ans 1. F 280
< 2.F 540
K 3T 440
4T 240

alert.in

Question ID : 9864492447
Status : Answered
Chosen Option : 2

Q.21 fET o717 FoeT FT WE AT Ig 97 F¢ 5 A v Greast & & sar
s R v Fua & Mg dt W feer 1 g B

YA

Feat gea &) wel Ear I 2

e
1. mefr Ffet gmer ¥
2. weft daar At #

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:

All rivers are holy. All gods are holy.

Conclusion:

1. All rivers are gods.
2. All gods are rivers.

AT w2 3eEor T &

Ans

Ko

Only conclusion 2 follows

x, T s 1 s T 7

| Only conclusion 1 follows

(A AT A 2 8 SeERr e Y
Neither 1 or 2 follows

17 2 el sHegeer e #

Both 1 and 2 follows

v

x

Question ID : 9864493902
Status : Answered
Chosen Option : 1

Q22 CrsfafEa o Fia ur v smafass A Fraorad &
Which of the following is not the properties of an ionic compound?

v 7 oI 3R FTUATH
Low melting and boiling points

| B HR At
Solid and hard

, T Tl 3N FUeh
High melting and boiling points

Ans

x

x

Question ID : 9864493372
Status : Answered
Chosen Option : 2
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Soluble in water and insoluble in petrol

Q.23 1962 # T ST, . T, U7 TSN HET T 7 57 81 7 FRarcT 9Iod F{el arer
qEITT STt & R ST e

The Dr. B. C. Roy awards, instituted in 1962, are given to eminent achievers primarily
from which field?

Ans
X1 Gl
Sports

Question ID : 9864492345
Status : Answered
Chosen Option : 2

VN faf@a # ¥ a9 & & N-THEER 5] 87

Which of the following is a Non-Luminous body?

Ans FAHIAT Todl
1.

Glowing bulb
2 =

Moon

Xa 2"
Firefly

e g s

Burning candle

K4

Question ID : 9864493383
Status : Answered
Chosen Option : 1

Q5 g X FrFaga vysirz¥srwRamaySFRafFraamgaawza
(#n 2l

If X has two sisters - Y and Z, and W’s mother is the sister of Y’s father, then W is Z°s

| Mother

TR [AAT (AT [FHET 1S
Vo TRl AT AR T aee
Cousin
ST / ST
Niece
forar

Father

< 3

X4

Question ID : 9864494066
Status : Answered
Chosen Option : 3

Q.26 =T 3R ofie] T ofdls &I U 4 : 3 §1 MG el T oS 1.2 e §,
Al T ofars fohar 87

The ratio of the heights of Nani and Leelu1s 4 : 3. If Leelu iz 1.2 m tall, then what 1s the
height of Nani?

Ans

Question ID : 9864492525
Status : Not Answered
Chosen Option : --




0.9 #Hex
09m

2 #iex
.2m
‘,3_1.53%1
1.6 m
1.8 #AeY

1.8 m
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Q.27 A srFer st & #1 8 T & I FT HHhaT §, T B FH T A F 12
et cray e s 4 R T waa d 3k € 3k D =
= 30 1 H 15 T F 9@ = § & D F 59 FH B W = F B
AT TEET?

A can complete a task alone in 8 days, while B takes 12 days to do it by herself. Together
with C it takes them 4 days to complete the work. If C and D together can complete the
task in 15 days, then how many days will D need to complete the task by herself?

Ans  of 140
<232
X 3 36
~ 430

Question ID : 9864492929
Status : Not Answered
Chosen Option : --

Q28 Ry & Rw ww Fafte S & R W e R o

O __

Select the missing figure based on the given related pair of figures.

Question ID : 9864494204
Status : Answered
Chosen Option :1

Q.29

Question ID : 9864493906
Status : Answered
Chosen Option :1




AT T S Tl AP
Problem Figure
?
Answer Figures
A B C D

Problem Figure - @&aFar =

Answer Figures - 3ca¥ HRfaar
Choose the correct figure that replaces the question mark.

Problem Figure

Answer Figures

A B C D
Ans X1C
V2D
X3 A
X 4B

vgyw.govtjobsalert.in

Q.30 3 Fw=dl, 2018 % qeER Ut TewfafEe & & #iv @ a¥ & B 3 Fwed #
YA FF?

3" January 2018 was a Wednesday. Which of the following years will also have
3" January on a Wednesday?

Ans (1. 2020
V22024
X 32023
x 42022

Question ID : 9864492954
Status : Not Answered
Chosen Option : --




Q.31

Ans

N - 110 e [ )
T T T EE A S s

‘Which Indian female mountaineer recently created the fastest record of scaling Mount
Everest back-to-back twice within 5 days?

v+ 3] STHEET
Anshu Jamsenpa

x 2 Teal Orel
Bachendri Pal

x5 JHIAT HIATA
Premlatha Agarwal

X 4 Faeer
Arunima Sinha

alert.in

Question ID : 9864492369
Status : Answered
Chosen Option : 4

Q.32 zfEur I 9RdT St SaRT wfig T e 9w wud ¥ 38 Far

Ans

g &2
Dakshin Gangotri is a research base station set up by Indian scientists. Where is it located?
F A
Sundarbans Delta

| Cauvery Basin

Question ID : 9864492130
Status : Answered
Chosen Option : 3

Q.33 &r oz feouoft wx R w5 3 a5 B Ran o Ha w s seE

Ans

fafem &2

feroauit:

"Irpfaie HETUET & WY # Bl A @ sele & foT femew & ot #r
TTEAT BEAE T A i e f oo § - wpe A ARE @ W e
wEe|

HeHT:
1. AT BEA TTepices TS & Tt )
2. v 9f@e & @ HEfE F aenw ¥ e F o § A O
Fr darEar ¥

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

“A visit of school students to botanical garden to widen their knowledge of natural
resources has been arranged” — a message on the notice board in the school.

Assumptions:

1. Botanical gardens are full of natural resources.
2. School students are likely to learn more through interaction with the new
environment.

(1_1311%Hi%vq0‘fr;ra‘r1;r€r2%|

Neither assumption 1 nor 2 is implicit.

Question ID : 9864494320
Status : Answered
Chosen Option : 4




x , e feeafor 1 ng\ég\"’QOVtJObSalert.m

Both assumptions 1 and 2 are implicit.
x5 fAfgT feoaor Faer1 8

Only assumption 1 is implicit.
x4 fafga feoaofr Faer2 &

Only assumption 2 is implicit.

Q.34 i 1 e a¥ wget 1 31 3 TF-TogTs 3 Ao 2 W 2t ad ae o g & e

7 e A S ¥ TR A W‘Im%? Question ID : 9864492493

Status : Answered
One-third of Poojitha’s age three years ago plus one-half of her age two years from now is

twenty years. How old is she now? Chosen Option : 3

Ans
x 1 23 g
23 years

X 2 26 99
26 years

V5 2439
24 years

x 4 2539
25 years

Q.35 g :g'ﬂ:[ EN) ?:lg"-'?l' e AT FI Question ID : 9864494318

Status : Answered

Chosen Option :1

Hoeh 1 o HAG : ?

Find the missing word for the related pair.

Road : Car :: Sea: ?
Ans e

- T-Iﬁ 17 x 29 = 493 ET (_'“- 170 x 0.029 = ? Question ID : 9864492981
Given 17 x 29 =493, then 170 x 0.029 =? Status : Answered
Ans « 1 493 Chosen Option : 2

< 2.0.493
3493
< 4.0.0493

Q.37
[ Question ID : 9864493936



Ans

ﬁﬁmmﬁm@qﬁuau%w' OVtg‘Eﬁ

alert.in

Status :
Chosen Option :

Not Answered

1,2, 6 120, 720

Select the number missing from the given sequence.

L

1,2,6,
< 1.50
X212
V'3 24
xX49

120, 720

Q.38

T e T T 84 FEHET §1 792 HreT Fr gt 57wt 3 o et qur wwet
EEu

A wheel has diameter 84 cm. The number of complete revolution it will take to cover 792 m is:

Question ID
Status

19864492531
:Not Answered

Chosen Option : --

Ans x 1. 330
& 2320
v 3300
& 4350
Q39 27225 1 Elﬁ?lfl' @il =T %’: Question ID : 9864492863
] Status : Answered
The square root of 27225 is: Chosen Option :2
Ans X' 1.145
v 2165
<3175
#4155
aso :ﬁifﬁqﬁﬁ EFr T AR AT SR e voee ¥ Question ID : 9864493849
Status : Answered
Chosen Option : 3

Ans

N
=]
=N

Use each of the following figures only once and form three groups. The three groups thus
formed are:

> 11,57, 23,9, 46,8
v 2 (157, (2,6,9), (43,8
~<3.(1,5,9), 2,6,7), (4,3,8)
X 41,57, (2,6,8), (4,3,9)

Q.41




. o .
FEET 2017 &, Fa® &7 T d= & 300 ﬁM\éﬁfQ%ﬂ% alert' In Question ID : 9864492220

e e &7

Ravichandran Ashwin became the fastest player in the world (in terms of number of test
matches) to get 300 wickets in test cricket in November 2017. Whose record did Ashwin

break?
Ans X1 Hewrm AT

Malcolm Marshall

X2 RS gseit
Richard Hadlee

Vs sfaa e
Dennis Lillee

x4 AT FTARA
Muthiah Muralitharan

Status : Answered
Chosen Option : 4

Q42 ey & § fhaad A oid guAwd 7 Ut geI?
Which of the following will give a terminating decimal?

Ans ?(1- 3

36

X2 2

6

xs 12

6

(4.9

6

Question ID : 9864492840
Status : Answered
Chosen Option : 2

W rafaBa & ¥ FiT o Fua e g2
Which of the following statements is INCORRECT?

Ans x 3T T ST T g #
Solids are almost incompressible

v 3 verdt 1 HHR AfAfRad gar ¥
Solids have indefinite shape

| B TerY HIT AT &

Solids are rigid

3 verdt F Haa Af¥Ea e &
Solids have definite volume

x

X4

Question ID : 9864493228
Status : Answered
Chosen Option :1

Q.44 iei ¥ Fefemse g T s F o o & 3= Teee A F
form ®T & Tafgd & Smar §
In plants, the carbohydrates which are NOT used immediately are stored in the form of:

Ans TEGF T

S0
Fatty acids

HHEAT 37T
Amino acids
==

Starch
aHT

' Fats

X2

W 3

K4

Question ID : 9864493256
Status : Answered
Chosen Option : 2




Q.45 s Fwam #r waw AP FATS awr AM%Q%\?/‘EUQH : alert'ln Question ID : 9864492171

Who is the director of Indian cinema’s highest grossing film Bahubali?

Ans xtmsﬁg'{

Karan Johar

sttt A A

| Gautham Vasudev Menon
Sanjay Leela Bhansali

, TE.TE. T
SS Rajamouli

x

X

v

Status : Answered
Chosen Option : 2

Q.46 2T 35 TRT AR Toh T TehT ool H FonHT AT ohal 31T 1 ot fol i ad 7 &
formes e

The work done in one complete revolution of the moon around the earth is equal to:

Ans x1_
SToCaTERYUT FoT x TEHT T FHETT T ST

gravitational force x diameter of the orbit of the moon

X 2
T T x AT 7 a7 Hr oy fer

-
gravitational force x circumference of the orbit of the moon

AT
3 "

Zero
< 4
FeITHAT ol x AT T H&T I [T

centripetal force * radius of the orbit of the moon

Question ID : 9864493102
Status : Answered
Chosen Option : 3

Q47 13 & qEY FHIERUT carT fhess dra Feg 1 geirar T 8

The second equation of motion gives the relation between:

Ans 1%3‘?‘?%

X
Position and velocity
v, T 3R ww
Position and time

33?T3T1TEH'UT

| Velocity and acceleration

4 a9 3T gAY
Velocity and time

x

Question ID : 9864493500
Status : Answered
Chosen Option : 3

Q48 faER & FIIHETAT (FTE 2018 @) Fie &7
Who is the Deputy Chief Minister of Bihar as of February 20187

Ans
" e FAR A
Sushil Kumar Modi

XZWﬁWW
Ram Vilas Paswan

Question ID : 9864492397
Status : Answered
Chosen Option : 1
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, effe]l FHIE AT
Lalu Prasad Yadav

, T R
Shatrughan Sinha

x

x

Q.49 7 = 786 H el wiew F ag 59 % 15amT T a7 fgam Rl =1 R
Toa faar am

After buying a toy for ¥ 66, Raghu managed to sell it at a profit of 15%. The selling price
of the toy was:

Ans (1.3 75.20
/< 2.¥70.80
v 3 ¥75.90
< 4.%76.90

Question ID : 9864492969
Status : Answered
Chosen Option : 3

Q.50 fr=faf@e arwil & wdr #aa ge foffa & @& soa aw=i & a7 oy
T T T HFEOT F

T Y T WRIT FT & g 2

Conclusions:

1. 9T sHE, FhEA AT B
2. 5T Fr s e @ d

Consider the given statement to be true and decide which of the conclusion(s) logically
follow(s) from the statement.

Statement:

‘Weight is also a Force.

Conclusions:

1. The unit of weight is Newton.
2. The unit of weight is Kilograms.

Ans x1.
forsers 1 31 2 St &1 3TERoT FE A 2

Neither conclusion 1 nor 2 follows.

Faer sy 2 @ 3FFEIT HLT B
Only conclusion 2 follows.

| Y 1 3T 2 Qe e = g
Both conclusions 1 and 2 follow.

| e Ty 1 @ JegEter F B

Only conclusion 1 follows.

<2

x

v

Question ID : 9864494293
Status : Answered
Chosen Option : 2

Q.51 Tafof@a & & ana $1 ®ia & fen & i 2018 & s 9fafee
ety &2
‘Which of the following films is India’s official entry to Oscars 2018?

IR )
i ®
Newton

Ans

Question ID : 9864492292
Status : Answered
Chosen Option :1




T 2o 57 & IA
2.

A Death in the Gunj
3.

x

x

Lipstick Under My Burkha
p g

Bahubali

www.govtjobsalert.in

% Rega 3w ¥ S| FHS FAT §?

The SI unit of electric charge is:
Ans Shol&d
i
coulomb

TEY

ampere

X2

Question ID : 9864493285
Status : Answered
Chosen Option : 1

Q.53 Fr=fof@a & & i 1 v urg AR aurg &1 3 T F 81 F1d g Far 2
‘Which of the following does NOT act as both, metal and nonmetal?

Ans X1_34113ﬁ?r'|a?

Arsenic

Question ID : 9864493151
Status : Answered
Chosen Option : 2

Q.54 37 ReeT & 997 1 = Aeaeieg =y & et $ gear 5 g2 §

AN

Select the option that represents the number of triangles in the following figure.

A

Ans x1_ 15
<212
V316
X417

Question ID : 9864493979
Status : Answered
Chosen Option : 2

Q.55




st 3 s Y

___1isnot an endocrine gland in humans.
Ans m Iy
The adrenal gland
draqy i
The pituitary gland
, e
'Ihe pineal gland

Tdepcd
The liver

X2

v 2

%.?VtJOb alert In Question ID : 9864493458

Status : Answered
Chosen Option :2

Q.56 arfafaa # @ #ia &1 ey far 71w e F wér a9ur wiafda & gafar 32

15UP5062

‘Which of the options depicts the correct mirror image of the given figure?

15UP5062

™ v 830cquet
x> 2605PUS1
x+5062UP15
<+ S9059UP51

Question ID : 9864493975
Status : Not Answered
Chosen Option : --

Q.57 AR g & weeufeet & Taw wfag ot & & v & Afeweet
21 30 AT Tgufa &1 A1 FaW i 9E Agecaqut SwoT = A

One of the most famous speeches in U.S. Presidential history is ‘The Gettysburg Address’.
Name the US President who gave this epochal speech.

Ans 1 ST UH. Fagr
John F. Kennedy

¥ &) STe
Abraham Lincoln

Xs.il TER FHee

Theodore Roosevelt
x4 Sier arfereTes
George Washington

Question ID : 9864492137
Status : Answered
Chosen Option : 4

Q.58

Question ID : 9864494331
Status : Answered
Chosen Option : 2
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13 23 20 10
M W E J

1 2 3 -

Select the odd figure out of the given series.

13 23 20 10
M W E J

1 2 3 -

Ans .’1_ 3
X21
X3 2
K44

Q.59

Ans

ForFe FT fUH FIAT FE 82

What does Coulomb’s Law state?

&)
gr g it & Fex 3medoT (a1 SRS F @@ T 9REoT & e A
AT & IJRART 2T § 3N 3o @9 B gl & 1 & YRR gier
gl

The magnitude of the force of aftraction (or repulsion) between two point charges is
directly proportional to the product of the quantity of the two charges and inversely
proportional to the square of the distance between them.

X2
&r foig amdelt & Few s (AT SfEdeT) T@ HT TRAT & ael B A
& AUAES & WA 359 & S & F T & emEeIr g g

The magnitude of the force of attraction (or repulsion) between two point charges is
inversely proportional to the product of the quantity of the two charges as well as to the
square of the distance between them.

X3

ar fig sl & Few T (A 9iAeden) F a@ F ARAT & i A
A & SgcRAgaTdr giar g A 3 @ # gl & T & argmAegee aar
2l

The magnitude of the force of attraction (or repulsion) between two point charges is
inversely proportional to the product of the quantity of the two charges and directly
proportional to the square of the distance between them.

X 4
ar fiig it & AT AT (AT SO % a9 F GTAT & el &
A & WA-FY 5506 o H gl F T & FTHAR Fer §

The magnitude of the force of attraction (or repulsion) between two point charges is
directly proportional to the product of the quantity of the two charges and to the square of
the distance between them.

Question ID : 9864493386
Status : Answered
Chosen Option :1

Q60 8% g gUT e AT W ART FE aaur 2 W o W 5 T

Ans

732 g Fer 3 e fr i =y e o

A sum of money invested for 2 years and 9 months at the rate of 8% simple interest per
annum becatme T 732 at the end of the period. What was the sum that was initially
invested?

v 1T 600
< 23575
# 3T 550
# 4 T 500

Question ID : 9864492687
Status : Not Answered
Chosen Option : --
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Q61 e H e FaT SUTETT FIaT
A FT ;T e far # :'t@- %‘) Question ID : 9864493925

Status : Answered
HYA: Chosen Option : 4

AalS F B H 9 g A §
‘Which of the following options correctly describes the given statement.

Statement:
There are four rooks in a game of chess.

Ans x . M
Often
Chaull
Never
T FAT
Sometimes

FHIT

Always

X 3

W 4

Q.62 0.1 farelame a5 1 ek SigHr T fRufy @ o smar & (s @g e A
#1 gt ¥ el 7, 7 ecarhuuT & a9 § A Ao H fhae gem (g =98
et wfy =9 ) - Status : Answered
A ball 0of 0.1 kg is dropped from rest. When it falls through a distance of 2 m, the work Chosen Option :1

Question ID : 9864493222

done by the force of gravity is (g = 9.8 m/s?):

Ans 0.98 ST

0.98 1
~0.98 S

—0.98 1
~1.96 S

—-1.9617

1.96 Hel
v ~
1967

Q.63 C s
eFtolad dodl 7 & fohwe A Feaall TaW & §? Question ID : 9864493233

Which one of the following elements has the lowest atomic mass? Status : Answered

Ans m Chosen Option : 1

F !

Lithium
AT
Nitrogen
giferoH

Helium

RESED

Hydrogen

52

X 3.

o 4

Q.64 =red 3T #ar 37 & I 6 AT F AT g1 T Ieeiw 30 WA Tg TH
GEY & wdr & ot &, e H 57 F 4 T 35947 0 e & s Hrosw

FT 5 T IS TEAS IET F T FT E2 Status : Answered
Chosen Option : 2

Question ID : 9864493033

The difference between Charles’ and Shriya’s ages is 6 years. When they married each

other 30 years ago, 4 times Charles’s age was the same as 5 times the age of Shriya. What
is the current sum of their ages?



«1_1143&

114 years

x2_110a-&

110 years

115 ¥
< 3.
115 years

411zanér

p
112 years
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Q.65 Ty ABCD T TFess Tg &, AC HT BD 38% vs gy 1 g o W wia=de
FeT arel faH0T §, df AC:BD 21T

If ABCD is a trapezium, AC and BD are the diagonals intersecting each other at point O.
Then AC:BDis

Ans X 1. AD:BC
&< 2. AB+AD:DC+BC
& 3. AB:CD
v 4 AO-OC:0B-OD

Question ID : 9864492618
Status : Not Answered
Chosen Option : --

Q66 A

E
IR fe@e ¢ go7 & ST AB I S@rr ST § A1 S T W DE ¥ D W
foren ofs AB = 5 @R & 3T DE = 6 ddufiex g ar BD #T oF=g 9 d
By
A

E

Tn the circle above, chord AB is extended to meet the tangent DE at D. If AB = 5 cm and
DE = 6 cm, find the length of BD.

Question ID : 9864492695
Status : Not Answered
Chosen Option : --

Q.67 wiad 2018 &% .. AR B4 F geu FAFw At (@) Fa 2
Who is the Chief Executive Officer (CEQ) of JP Morgan India as of February 20187

Ans hd
HATHIHTIA
X 1 39T q
Usha Ananthasubramanian
X2 onfar Sepeets
Shanthi Ekambaram

Question ID : 9864492214
Status : Answered
Chosen Option : 3
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Naina Lal Kidwai
g
Kalpana Morparia
Q.68 | g | rereiean | fifEa i | sfRifEa s | @ e wr
%
A 200 150 50 -
B - 200 100 66.6
C 150 50 100 -
D 120 - 90 25

w17 st ¥ AR W, TR Wl # T Hee RfaEt & g gk,
T gUEe o QUi gl

City | Population | Literate | Illiterate | % of
literates

A 200 150 50 -
B - 200 100 66.6
C 150 50 100 -
D 120 - 90 25

Based on the given data, the total percentage of literates in the four cities together, round
to one decimal, is

Ans ' 1.55.9
v 2558
X 355
X 4.557

Question ID : 9864494001

Status
Chosen Option

:Not Answered

Q.69 =T T & @ #ia W U, S99 o & SaieiteT Hiar 27
‘Which one of the following triad represents Dobereiner’s Triad?

Ans 31 Li, K, Na
X< 2.Na, Sr, Br
« 3 Li, Na, K
X 4 Li, Ca, C1

Question ID
Status

Chosen Option :

19864493354
:Not Answered

Q.70 =l Faw & AT F BT v wml e, deR AT TR s S
ST3HT T FT FET G §?

The process of taking up a permanent shape, size and function to form a permanent tissue
is called:

Ans v fasg=r (differentiation)
differentiation

fa=a (formation)
formation

THIRIOT (unification)
unification

WErRIUT (calcification)
calcification

X2

X 3.

X4

Question ID
Status

Chosen Option :

19864493195
:Answered

1

Q.71

Question ID

19864492849
Status :
Chosen Option :

Not Answered
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TET & TRT 30T T &R ST S ST g § Aaie ey 5§ e5e e
Fr wifarer wg §) fest & ¥ @, 156 92 § o S9N & AT
T B, ot #15 off fegws 5@ 10 9 F caeg o "o ¥ RN & o
A wIR w20 et ik s sr st St dar 3 g S ==
e ) T @ e e §2

In a computer game, there are builders and destroyers. Together there are 20 of them.
Some of them try to build a wall around a castle while the rest try to demolish it. Each of
the builders can build the wall alone in 15 hours while any of the destroyers can demolish

it in 10 hours. If all 20 builders and destroyers are made active when there is no wall and
the wall gets built in 3 hours, how many of them are destroyers?

Ans J1_ 6
K25
X337
<48

Q.72

fw 7w 7 @ fww gl gfaw

b=t

B c

Select the figure which does NOT belong to the group.

D M}
A |

A B C

Question ID : 9864493799
Status : Answered
Chosen Option :2

Ans x 1. B
v A
X3D
K4C
Q73 oot e # & T Bl S 0F FA A A 2 Question ID : 9864493479
‘Which of the following is a velocity—time graph for uniform motion of a car? Status : Not Answered
Ans

Ko

»—

|

[astance {m)

1 %

Tirma [5)

Velocity (ms™)- 331 (HreT 9fa @=s)
Time (s)- TAT (TH3)

Chosen Option : --
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Tiims:

Velocity (ms™')- 3971 (FHiex 9fa @=3)

Time (s)- TAT (TF3)

K3

Pl e e

i L Ses?_Seasmanse
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/i in
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Velocity (ms™)- 397 (HieT 9fa @s)
Time (s)- TFT (WF3)
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Time ish

Velocity (ms™)- 39T (HeT 9fa @=3)
Time (s)- THT (WFS)

Q.74

Question ID : 9864493997



Ans

ﬁma@mﬁm%ﬁmﬁmﬁ%é@@%’%@?ﬁp@?alertln Status : Answered

& a1 H wEAr FE &7

SM@AHN2B408&3C5P+D2

The number of letters that are preceded by a symbol but not followed by a number in the
given expression is

SM@A#N2B40&3C5PD2

vi2
X23
X3 1
X4 4

Chosen Option : 3

Ans

3B-(60+5x16 -8+ 2+ 3)} =7
Solve the following.

(38-(60 + 5x16—8+ 2+ 3)} =7
<130
< 229
< 337
V22

Question ID : 9864492839
Status : Not Answered
Chosen Option : --




